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quf® : 70

e : aeft ueAT & Swx dfvw | Fft goAl & s wER Sfea £

q. 1. = $ gugT e Hife -

4x5=20

(31) I AT T, VRIS, TEiFaT 3R FRMA & UEER B | IRRINE

IRES F {10 I T FAORT o | J T g o b guR1 I
A et @R A R = IR R H Tl JerEr A
TR TGN Pl T | 37Tz S Ire Ul =l fob ISUGR & HEwIol o
IGT 5 3 W veo § afFfera a9 W %2 € a1 By &1 I
TR STEd 8 SO SEF e & awelt I e fife @
T 9T H ORE ARG e TR # AW, oFd §RT S8 H
TERIT ST GNT NG T 09 qfIeH l IRONT 31 9 IR | o
ISR A GFT 8 T off 3T Hawed forlie To/F W a1 I
ORI IR Y 3T SRR A R 10 el 3 T I o/ T oA
AT ISR & AR fReeh SR § T4 T <, 7 31 T | 39 &A1
¥ PHINE TR0 $T PrAERT AR H TR ga7 Al 9 fafey
TRAR P 3G B Rl a7 0|

Jgar
R b g 3 S TR A, Tofel—aR -9 I 2 & 98 I & S
SRt T a1feres e iR e TEd § | §6Y 31U eI Ug TR -
o9 & forg ot dRerf o1 [awT 2 3l PR 3 g 97 F o off W
AR AY GO P AT X T B T A7 7oAt Feamoit G St & F

(i) $I3.
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forr & g T 21 31 S ARAT P AR W AR ROMT FAR P
I 5 A € | HIGRTIRT T (eI, ST T B & T &1 il
TS geaen I ot & O fEarHe Wides Afaidl B IR & i Z9EeR
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IR 39 ot AR F FER forw B ufte wrm A fier Ot § g eaw
fRrer & waE RrRR w o1 o, 98 FErt Me A doaw, T | waaw
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T, 3T ARl W R RIS el Y AR a T SR I T B
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it g ot 2T fa, S faerma 3, T ofR e aaToR & @ 7 a9
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arerar
T2 I & BT TR B H T Teqy okl &, o gt a1 AfesuEn
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2 Rl v Bl @er T e v,
St A2 A1 3rcif rferT farAepT Tae |
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qeeh S Uedds S Bl §¢ 0T T &l

(i)

. 2.

(1)
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55 Q. Paper Code : BA/JBECOMO2

DISTANCE EDUCATION EXAMINATION - 2017
B.A./B.COM. FIRST YEAR
SUBJECT - GENERAL ENGLISH

Time : 3.00 Hours M.M. 70
0.1.  Read the following passage and answer the questions that follow- 15

When we lived in London, Qur neighbours had a car which was
thier pride and joy. Every weekend they used to wash it carefully,
remove all the dust from the cushions and give it a thorough
polishing. After this, if the weather was suitable, they would
arrange their children on the back seat, and themselves in front,
and go for a drive in the country. When they returned a few hours
later, the ceremonial washing was repeated, and the car was safely
shut away for another week. One day, when it had been newly
polished, dark clouds began to gather and large drops of rain fell.
Qur neighbours hurriedly put the car away and retreated indoors.
Soon afterwards they emerged, complete with raincoats and
umbrellas, apparently intending to go for a walk.

i) When did the neighbours wash their car?

ii} Where did they keep it during the week?

iii} Where did they go in the car?

iv) What did the neighbours do when it began to rain?

v) What do we expect when dark clouds begin together?

Q.2. Supply suitable articles - 5
i) This book has won Bookes prize.
ii} lam university student.
iii) | bought pair of shoes.
iv) She goes totemplein mornings.
v) Arjunis M.B.A. from Madhava University.

(i) PT.O.



Q.3.

Q4.

Q.5.

Q.6.

Q.7.

Choose the suitable prepositions- 5
i} There are thirty days a month.

i) This road leads Udaipur.

iii) There are trees the river bank.

iv} Riya resembles her mother.
v} You are adviced to learn this lesson world word.,
Fill in the blanks using the appropriate phrasal verbs- 5

i} He promised to come up but hasn't yet. (Turnin/turn up)
i) Mary usually has to to her brother. (give up/give in)

iii) He that he had been badly treated. {make out/make up)
iv) The bus go out of control and awall. {rundown/runinto)
v} The fireman soon the fire. (put up/put out)

Supply suitable determiners- 5
i} Thereisn't food in this lunch box.

ii) There are girls in the class-room.

iii) students are absent today.

iv) | have collected books.

v} Today | met M.L.A. of our state.

Fill in the blanks the correct form of the verb- 5
i} Shivesh and Aarav good friends. (be)

i) The Sun in the west. (Set)

i) It when | came back. {(Rain)

iv) The child everything. (Destroy)

v} Rohanis now. (Jump)

Rewrite the following sentences into passive voice. 5
i} Ram gave me a book.

ii) The Magistrate has sent him to jail.

iii) Please don't close the door.

iv) We must do the work.

v} Who taught you English?

(i)

Q.8.

Q.8.

Q.10.

Q.11.

Rewrite the following sentences into indirect speech- 5
i} He said to me, "Work hard.”

i) Officer said, "Get up immediately.”

iii) Ajay said, "Where is she?"

iv) The servent says, "Dinner is ready.”

v} Sandhya said to his friend, "Let us play Chess.”

Fill in the blanks the correct Modal Auxiliary. 5
i) | do it for you?

i) You take regular exercise.

iii) lift this heavy box?

iv) you live happily and long?

v} We respect our motherland.

Write a letter to you friend inviting him to join you on a tour of
some historical places of India. 5

Write a paragraph in about 200 words on any one of the following
topics- 10
i} India of My Dreams.

ii) A Responsible Media.

iii) Importance of Time.

*ee

(iii)



dd & WW@ieT A FI1 oMy 27 RAfYT UPR F Y@ 1 SugE
SETERN TS |
What do you mean by Crossing a cheque? State the different kinds of

Crossing with giving suitable examples.

Iu9iFaT & Rt rfEeRT F1 av[ Hif |

Describe the various rights of Consumer.
arerEr/ OR
TRl & PRI T FelA] B Seaikg HIRE |

Enumerate the right and duties of partners.

aea 6 TR H (iftmt w1 ool HRR

Describe the methods of a discharge of Contract.
31291/ OR

1T fAgdT & 91 & 9y T TR g9 &7 GUsEY |
What are the rights of an Unpaid Seller against the goods? Explain.

*ee

(i)
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Q. Paper Code : BCOMD102

DISTANCE EDUCATION EXAMINATION - 2017
B.COM. FIRST YEAR

PAPER - IIl : BUSINESS REGULATORY FRAMEWORK
3.00 Hours MM : 70

Attempt all questions. Each question carries equal marks.

: ot uew g Hifog | et vt & 3w wm &)

"t ST 5aXa B & e ofY o argery TR A 81 e SR |
"All Contracts are agreements but all agreements are not Contract.”
Discuss it.

areraT/ OR
WPl § o9 =7 TR £7 Riehy & e H e Hifve |

What do you understand by Acceptance? Explain the characteristics
of Acceptance.

I e & Ul T o & PH-BH T PR Td B &7

What are the rights and duties of an agent towards his principal?
3121/ OR

ax] g oge=g | U 1 99k 27 Od orfery & amaa®

LN BT T |

What do you meant by Contract of Sale? Explain the essential
characteristics of Contract for Sale.

Rt rg-u3 S Ry SR | R = F aaws o w2 &7

Define Bill of exchange. What are the essential elements of a bill of
exchange?

31291/ OR

(i) %Y./ PT.0.



Q. 4.

aférg feoafomn fRau—- / Write short notes on following-
(i) SUge T/ Appropriate State
(i) =agqTI/Business
(i} ST T ¥AF/Place of Business
(iv) faspa g/ Sale Price
grerr / OR
st fepa R AR 1956 & TaaI & Ted Yeiiaoxy Sfehal F9es |
Explain the procedure of Registration under CST Act 1956.
grerr / OR
AT F IR A1 F P (A D oS |

Explain purchase and sale of goods within the state.

TN e URafdd R AT 2003 & ER SAURT 9§ T AT
&7 3 PH-H Afa afferd €2

Who is the dealer according to RVAT 2003. Whom are included in
this?

et / OR

TN e uRafefd R AffRm 2003 $ SUR FR IFT AT 9 9
FT FESAT 2 TR A (g I R FT veR R S &, dredte
TR F FI |

What do you meantaxable turnover under RVAT 2003. How it calculate
explain.

*ee

(i)
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TIME :

Note :

Q. 2.

Q. Paper Code : BCOMD103

DISTANCE EDUCATION EXAMINATION - 2017
B.COM. FIRST YEAR
PAPER - IV : TAX PROCEDURE & PRACTICES

3.00 Hours MM : 70

Attempt any five questions. Each question carries equal marks.

: IS Ig U g Hifg | asft e & siw e #)

IRAT TR Tell P FH4U ¥ GHSSY | WAYHE IR Fg WPR, AT
WHN, LT ol o Far-aar afeEr &7

Explain Indian Tax System. What are the power given by Constitution
to Central government, State government & Local government.

are@r / OR

IUIRID PR A AT NI 57 AP P P 07 AT FaT9Y |

What do you mean by Proportional Tax? Explain merits & demerits of
Proportional Tax.

T PRI F 0T F SN A |
State merits and demerits of Direct Taxes.
areEr / OR

P 3 W A g fRau |

Write short eassy on Agriculture Income.

frafa =R & SR A1 & FI-IHT P THSIET |

Explain purchase and sale of goods in the course of Export Trade.

are@r / OR

(i) $.9%3. /PT.0.



113 Q. Paper Code : BCOMD104
DISTANCE EDUCATION EXAMINATION - 2017
B.COM. FIRST YEAR
PAPER - V : BUSINESS STATISTICS

TIME : 3.00 Hours MM : 70

ey : f=dl ufg yeAT & SR SR ) gt weTi F 3iE wEE )

Note : Attempt any five questions. Each question carries equal marks.

7. 1. 71 991 @ Ated, Al g 95 o

Calculate mean, median and mode from following data-
Class F

0-10 -

10-20 -

20-30 -

30-40 -

40-50 -

areraT/ OR
e 59 ed 87 Rvwar $ S b TR bt TRt &7

What is Skewness? How will be Skewness be tested in a distribution?

| T, R VU N

7. 2. R LFUTW T B / Calculate coefficient of Range.
Class 0-10 10-20 20-30 30-40 40-50 50-60
F 2 3 4 2 5 2

arear/ OR

T farrer &t TUET B | / Calculate Standerd Deviation.

Class 10-20 20-30 30-40 40-50 50-60
F 5 3 2 1 4

(i) %Y./ PT.0.



. 3. ey fraem H o @R (afede 9) -

T. 4.

Calculate Mean Deviation (By median)-
X 10 20 30 40 50

F S 3 2 1 4
arear/ OR
fewquft #R1- / Wrrite short note on-

(i) TFIfEHT BT 98 / Importance of Statistics.
(i) f"OR / Range.

et AT 1 W8 THGY UMb ST N |
Calculate co-efficent of Corelation of Karl Person.
X Y

18 19

16 18

13 12

12 10

14 13

15 15

17 16

11 7

Fqr/ OR

qAFHid FT 8?7 396 TIE P A0 I |

What is Index? Describe it's importance.

(ii)

9. 5. et [OFHT F1 RAvwar Ionie . a=i-

Calculate Coefficint of Skewness of Karl Person-

Class F
0-25 10
25-50 9
50-75 5
75-100 0
100-125 10
125-150 4
150-175 2
3rer@r/ oR
e sioft g &7 gadT [AkmT &1 auie |

What is Time Series? Described it's methods.

+00

(iii)



9. 4.

9. 5.

A9/ OR
qof URTENREAT & i Sieald 3§ Ied U ScIe AT &1 e o
TR BT 87 TS |

How price and output determined in the short term periods under
conditions of the perfect competition? Explain. 14

et & o g &1 EFTHS THE0T HIfT |

Critically examine the Recardian Theory of Rent. 14
aear/OR

IR § A9 T e &7 R oo 9 qaR @ gt Fars |

What do you mean by market? Classify the markets from different

angles. 14

I A B AT Rt B T )

Explain the methods of measuring the National Income. 14
aear/OR

a1 & T ae7 SR Ta-macy F Rigra @ T9ssy |
Explain the Uncertainty Bearing theory and Innovation theory of profit.

7+7=14
e

(i)
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TIME : 3.00 Hours

Q. Paper Code : BCOMD105

DISTANCE EDUCATION EXAMINATION - 2017
B.COM. FIRST YEAR

PAPER - VI : BUSINESS ECONOMICS

MM : 70

ik : |t wem g Hifg) 9l wel F i T &

Note : Attempt all questions. Each question carries equal marks.

I 1.

T 2.

fse T FHfse 3refelv § 3R Tqse Hifor g S RN Hf=ar

) TS | / Distinguish between micro and macro economics and
explain their interdependence. 8+6=14

72q1/OR
a0 B AT P GRS BT T2 IHqHT AR SR P Swgr @
W TS |

Define elasticity of demand and explain its various degrees with the

help of suitable diagrams. 4+10=14

uReeefia Ut & e B e S|

Explain the law of variable proportions. 14
72q1/OR

gfif & M 6t e HIfe e 396 svare FaTRd |

Explain the law of supply and state its exceptions. 7+7=14

ye=ah ot § fRR g sk uRadqsfia s & S /9s3 ot
GLE

Explain the uses or importance of fixed costs and variable costs in
managerial decisions. 14

(i) %Y./ PT.0.



115 Q. Paper Code : BCOMD106

DISTANCE EDUCATION EXAMINATION - 2017
B.COM. FIRST YEAR
PAPER - VII : BUSINESS BUDGETING

TIME : 3.00 Hours MM : 70

fdyr - |t veT v Hifvw | asft vt & 3w T &)

Note : Attempt all questions. Each question carries equal marks.

Y. 1. @A qWe A 39 1 TS 57 q9C P AT g TP B qu

HISW | /What do you understand by Business Budgeting? Narrate
characteristics and nature of Budget.

arerar /OR

‘FACT’ F FT 2T E° IS P AEGTD adi Pl T HIfT |

What are the objects of 'Budgeting'? Discuss the utility and limitations
of Budgeting.

9.2, AEHS q@gaE ¥ A9 F1 G980 T9F e @ HEred W Hee
Siferul

What do you mean by Business forecasting? Throw light on its
importance and limitations.

et / OR

fradfa oo Tem Ry ¥ SRy @ g9eg s fifvol

Find out the value of the trend by three yearly moving averages.

(iv) (i) $.Y93./PT.0.



. 3.

Year Production Year Production

{in tons) {in tons)
2005 10 2012 24
2006 15 2013 20
2007 12 2014 26
2008 18 2015 22
2009 15 2016 30
2010 22 2017 25
2011 19

TP PG § 10,000 FHIFAT & I H U guics 7 7 Tow &

The Budgeted expenses for production of 10,000 units in a factory
areas follows:

Particulars Cost per Unit (Rs.)
1. Material 70
2. Labour 25
3. Variable overheads 20
4, Fixed overhead (Rs. 1,00,000) 10
5. Direct Exp. 5
6. Selling Exp. (10% fixed) 13
7. Distribution Expenses (2% fixed) 7
8. Administrative Expenses 5
{Rs. 50,000}

FHM: 8,000 T 6,000 FHIFAT & foTU qoic I3 | T AN & N~
g JTET P [t TR W RR 81 / Prepare a budget for production

of 8,000 and 6,000 Units respectively. Assume that administrative
expenses are fixed for all levels of production.

72q1/OR

(i)

9. 4,

9. 5.

7 W fewufort farRau/ Wirite short notes on the following:
(31) Jws T9c /Cash Budget
(a1) faspa oIC /Sales Budget
ARG gaigE & e Rftat o were-
Explain the following techniques of business forcasting-
(31) a9 g faf¥ /Least Square Method
(a1) wedllo fafer /Regression Method
A9/ OR
‘TAC TAUT ‘T D ufRenmr S0 | 5B A T sl @ ke Hifvr )

Define 'Budget and 'Budgeting'. Discuss its advantages and limitations.

qof I &FAT 6 ST &R fevgeft faRag-

Write a note on utilisation of full Production Capacity.
A9/ OR

Following details relataed to A Factory :

Fixed Cost (f®R #T) = %. 40,000

Variable Cost (tRad=efiet @FE) = %.15 Per Unit

Maximum Production Capacity = 1,00,000 Units

Activity Level Selling Priece Per unit

EEvES

foramefierar fazsa BPIGEEETES
60% %. 90 Per Unit
70% %. 80 Per Unit
80% . 75 Per Unit
0% . 67 Per Unit
100% %. 61 Per Unit

SR [ 9 IR T § YSE AP AR U SR i e
fpanefierar & 59 TR PN 70 DI [ R HRGM B Fqifeks g = |
Prepare a statement showing incremental revenue & differential cost.
Select which level of production is more profitable for factory.

(i) 00



0.5, = dA9-21 & g 98t § forme ook § 396! @a = Hifor- 110 Q.Paper Code : BCOMD110

Write following transaction in the Sales Book and post them in the ledger. DISTANCE EDUCATION EXAMINATION - 2017

March 1 Sold to Hari 300 B.COM. FIRST YEAR

March 13 Mohan purchased 500 PAPER - Il : FINANCIAL ACCOUNTING

March 25 Goods sold to Mumtaz 700

March 13 Goods purchased by Hari 1000 TIME : 3.00 Hours MM : 70
FeEr / OR Note : Attempt all questions. Each question carries equal marks.

el T 79T §7 S P -PiF A o R S §7 frda : wft weE & Hifvg) vt vl & o WA F)

What is Journal Proper? Which entries are passed init? 7.1, = T ot @ S O aTet s aET S e e 98§ et uee

PIRTe- / Write following transactions in a three columns Cash Book and
post them to the ledger.

1998 Rs.
March 1 Opening Cash Balance 250
Bank Balance 3,150
March 3 Cash Sales 500
March 6 Withdrawn from Bank 1000
March 8 Account of Ramchandra Rs. 500 Settled
by paying him Rs. 490
March 11 Cash Sale by cheque and it is sent to the Bank 300
March 16 Paid Triloki Nath by cheque 190
Discount received from him 10
March 17 Received from Prem 48
Allowed discount to him 2
March 18 Cash Purchase 100
March 21 Furniture Purchase 20
March 24 Deposited in the Bank 800
March 26 Withdrew from Bank for Personal Expenses 100
March 31 Salary Paid 60
March 31 Rent Paid 50
Jqar / OR

qeTIC FATE? FAFTRI I & | /What is Trial Balance. How it is Prepared?

(iv) (i) $.93. / PT.0.



.2

9.3

31979 2009 P APS T2 F 5P 9¥ 1,240 . T, AfHH 99 g I I HIdA

987 3. 50 U= T T R IR 1T §arT fob—

(i) 25 PP 500 T T U 5P Yol it ot A Sop S aRget e AR 9T |

(i) 29 AT B TP 250 F. F FWp Pt <t A P I o fore o A sufeer
TE fopa T |

(iii) 9% 7 2 ®. 50 Y §p o AT I AP & H S o M0

31 ATd BT ¥ T Ra=or S AR F (i) IS gD Pl qThl AP qAq

(i) UTT gD DT AT ADR T |

On March 31, 2009, the balance as per cash book was Rs. 1,240 while

Pass Book balance was only Rs. 987.50. On comparison it was found

that-{1) On March 25, a cheque of Rs. 500 was sent to the Bank but the

Bank could not colleted that. (2) On March 29 a cheque of Rs. 250 was

issued but it was not presented before the bank for Payment. (3) Bank

charges Rs. 2.50 was not recorded in the Cash Book. Prepare Bank

Reconciliation from both methods.

(i} by taking balance as per Cash Book and

(ii) by taking balance as per Pass Book on March 31.

Jre@r / OR
3T G @I g AT U T H FAT 3R 57
What is the distinction between Receipt and Payment Account and Cash Book?
1 3V, 2008 T A T B F1 e et Fr=iferfiad & 1 3 anvy—=ifa &7 fasmer
3:23F S ERIL FHd & | /On 15t April, 2008 the balance sheet of A & B is

followings. They share profits and losses in the Ratio 3:2.

Liabilities Rs. Assets Rs.
Sundry Creditors 15,0000 Building 18,000
Capital Plant & Machinery 15,000

A. 20,000 Stock 12,000
Debtors 10,000

B. 25,000 45,000 Cash 5,000
Rs. 60,000 Rs. | 60,000

(ii)

9. 4.

S foifer @1 ¢ @1 =7 o1t & et et &y o mn-

(i) 98 25,000 F. GoiT & HIH M, T2 1/5 A9 F {649 & {0 10,0009,
ST 3 0 & AR | (i) TR BT T (771 gl — ¥ 25,000 F.;
e T AL 12,000 F.; TH 12,000 . T4 SR 9,500 . {7y Fon
& IR | (iii) T2 AT o7 3 A1 Ifly & ey & U 1ed 1,500 %, P12
T geTept & 2T foT<a] T 2 | SIS & oiRgieh o ool Wiafsea S aer
SMTIF ofok @I T2 € F T F a1 &1 Miefep fger 1 |

C was admitted in the partnership on that date under following
circumstances: (i) He will give Rs. 25,000 as capital and will bring Rs. 10,000
as goodwill for 1/5 share of profit. {ii) Assets are revalued as follows :
Building Rs. 25,000; Plant & Machinery Rs. 12,000; Stock Rs. 12,000 &
Debtors Rs. 9,500 (Due to doubtful debts). {iii) It is known that thereis
a liability for goods received for Rs. 1,500, which is not written in the
books. Give Journal entries for above and prepare necessary ledger

accounts also give Balance Sheet after the admission.

31eg1 / OR
TR 9 91 3 fame ux feoqoft fafay |

Write a short note on Garner Vs Murray case.

1 Fa9 1995 B X1 UF A fomT-59 gfd W &S | S99 5,000 ©.
qpe dehldl a1 5,000 ®. diF aTfifep fohrd 21 TR fram | sa T Hr e 5
wfcrera arfifes 81 forvet o wfeafera Aeftar 1 7a Af3r T st &t 7o Hif |

Mr. X purchased a machine on hire-purchase system on It January 2005. He
paid Rs. 5,000 at spot and then three annual instalments of Rs. 5,000 each. The
rate of interest was 5% per annum. Find out of the amount of interest in
instalments and cash price of the machine.

a1e@r / OR
TR W1 | Y T FHSAS &7 T = epie &t &t 82

What doyou understand by Branch Accounts? What are various kinds of branches?

(i) .93, / PT.0.



